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Exam 3 - MAC 2281 - Coe e Spring 2019
To-receive credit you MUST SHOW. ALL; YOUR WORK. Answers which are not supported by
work will not be considered.

1. (8 pis) Fill in the miost appropriate words or symbols:
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(a) If irg is & critical point for the funetion f(z}, then f'{zg) is

(b):If.£"(2) < 0, for all © € (a,b); then on the interval (a,b) the fimction f is loulave ogo W
(¢) TE F'(ag) =0 and f*(zo) > 0, then my fs g T X8 Wdtvwuun  for the function f(z).
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(d) L'Hopital's rule applies to limit indeterminaié forms of the type

2. (16 pts) Compute each of the following limits (8 pts each):
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3.°(24 pts) Find the indicated antiderivatives (6 pts each):
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(14 pts) Suppose you are. allowed to choose a; rectangular plot ot lancl along a (stlalght} river. The rectangular

Thréé bf the four sldevs'wﬂl'uqe‘ "heavy" téyf 'fencmg selhng for $30 per meter while the remaining 31dc (along the
rwer) will uge standard fericing selling for $10 per meter.: How .should you choose the dimensions of your plot of
land in order-to minimize the cost of fereirig? (It's OK if your result contains square-roots.)
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5.:(12 pts) Find all critical points of the function. f(x) = z* — Zz3-and determine their type (local minimum, local
maxiniti; of neither).
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6. (14 pts) A bageball is:thrown straight upward from ground level with an initisl velocity of 96 ft/s.

(8): (8 pts) Use intégration to find the formulas for the velocity v(t) and the position s{t} of the baseball at time t.
Assiime: gravitational aceeleration g = —32°ft/s°.

(b): (6 pts) When does. the ball teach the maximum height?
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7. :(18 pts) :Sketch the: complete graph of the function f(z) = mg Make sure to cleatly indicate the domain,
critieal poits mnd their-nature; inflection. points and ‘asymptotes: (justified with lmits). Your work should also
inchide a sign chart indicating the intervals where the function is increasing, decreasing, concave up, concave down
To ense your task; hiere ars the formulds for the first dnd second -derivative:
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